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1. WEAK
| x? sin-l-+a x<(
f(x)= X '
e* +2 , x20

E4§x=0&t$§r mljﬂ= -
2. WA f(x)EL x=07%, H F0)=0, f(0)=-1, mum

X

3. BF)R f(x) W~ RES, a<x<b, W [ F)fede=

—_—
—

4. WM z=z(x,y) A 2sin(x+ 2y -32) = x+ 2y -3z #5E, mlj.gi..,.

K.
dy
5. BOEBAUIF [(a [ f(x, y)dy =
— BIOUEFE CRANE 4 5, S 20 40)

6. #lim x* arctan—=2, Wk = ( ).
oty X
(A) 2 (B) 0 (C) % (D) 1
7, TR y=x"+ax+ bRy =xy' -1 TEA -2, HPa,b W, W ( -

(A) a=0,b=-2 (B) a=1b=-3 (€C) a=-3,b=1 (D) a=-Lb=-1

8, WLEBREK D x*+y* <-2xWIERMA TR, thjl(.\"-y)dt+(x—y3)cb'= ( ).

(A) -2z (B) 0 (C) 2x (D) 4
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